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STRAIGHT LINES

1. Find the value of x if the slope of the line passing through (2,5)

and (z, 3) is 2.

o Watch Video Solution

2.Find the value of y is the line joinint (3, y) and (2, 7) is parallel to

the line joining the points ( — 1, 4) and (0, 6).
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| @Y Watch Video Solution

3. Find the value of k if the straight lines 6z — 10y + 3 = 0 and

kx — by + 8 = 0 are parallel.

o Watch Video Solution

4. Find the the value of p if the straight lines 3z + 7y — 1 = 0 and

7x — py + 3 = 0 are mutually perpendicular.

o Watch Video Solution

5. Find the value of k if the straight lines

y—kr+4=0,(6k—3)xz — (8k — 1)y — 6 = 0 are perpendicular.

o Watch Video Solution



https://dl.doubtnut.com/l/_ap3XKu0MZmME
https://dl.doubtnut.com/l/_siXCGbRlBnXB
https://dl.doubtnut.com/l/_268vnl9DYEmj
https://dl.doubtnut.com/l/_PTwEUoTY9CGH
https://dl.doubtnut.com/l/_oP7ymTsHziF1

6. Find the equation of the straight line passing through A(-1,3) and
(i) parallel (ii) perpendicular to the straight line passing through

B(2,-5),C(4,6)

° Watch Video Solution

7.Find the equation of the straight line through the point (4,3) and

perpendicular to the line passing through the points (1,1),(2,3).

o Watch Video Solution

8. Find the equation of the straight line parallel to the line

2z + 3y + 7 = 0 and passing through the point (5, 4).

o Watch Video Solution



https://dl.doubtnut.com/l/_oP7ymTsHziF1
https://dl.doubtnut.com/l/_JaEH6f9Xc7TR
https://dl.doubtnut.com/l/_UM6PPzrLFFLW

9. Find the equation of the straight line perpendicular to the line

5¢ — 3y + 1 = 0 and passing through the point (4, — 3).

o Watch Video Solution

10. Prove that the points (1, 11), (2, 15), ( — 3, — 5) are collinear

and find the equation of the straight line containing them.

o Watch Video Solution

1. Prove that the points (a,b+ ¢), (b,c+ a) and (c,a + b) are

collinear and find the equation of the straight line containing them.

o Watch Video Solution



https://dl.doubtnut.com/l/_wwsFPE6F6El3
https://dl.doubtnut.com/l/_KFgl8UgRT0fs
https://dl.doubtnut.com/l/_YW9epbl4wD0h

12. Find the condition for the points (a, 0), (h, k) and(0, b) when

ab # 0to be collinear.

o Watch Video Solution

13. Write the equations of the straight lines parallel to X-axis and (i)
at a distance of 3 units above the X-axis and (ii) at a distance of 4

units below the X-axis.

o Watch Video Solution

14. Write the equations of the straight lines parallel to Y-axis and (i)
at a distance of 2 units from the Y-axis to the right of it (ii) at a

distance of 5 units from the Y-axis to the left of it.

o Watch Video Solution



https://dl.doubtnut.com/l/_CJU7P9Qqb1ho
https://dl.doubtnut.com/l/_GbWpCSItfcYt
https://dl.doubtnut.com/l/_BXpqp0OAhhwB
https://dl.doubtnut.com/l/_bBNGm91p0L2h

15. Find the equation of the straight line, which make 150° with the

X-axis in the positive direction and which pass through the point

(_2’ _1)

o Watch Video Solution

16. Find the equation of the straight line, which make 135° with the
X-axis in the positive direction and which pass through the point

(3, — 2).

o Watch Video Solution

17. Find the equation of the straight line, which make 7 /4 with the
X-axis in the positive direction and which pass through the point

(0, 0).

o Watch Video Solution



https://dl.doubtnut.com/l/_bBNGm91p0L2h
https://dl.doubtnut.com/l/_PjtCZCRK6qsq
https://dl.doubtnut.com/l/_4s9idhmRpQsk

18. Find the equation of the straight line passing through the origin

and making equal angles with the co-ordinate axes.

o Watch Video Solution

19. The angle made by a straight line with the positive X-axis in the
positive direction is 150° and Y-intercept cut off by it is 2. Find the

equation of the line.

o Watch Video Solution

20. Find the equation of the straight line with inclination

2
6 = tan ! (§> and y-intercept 3.

o Watch Video Solution



https://dl.doubtnut.com/l/_Q4UsFLBDJRNb
https://dl.doubtnut.com/l/_5mg2HJWXY2Wo
https://dl.doubtnut.com/l/_nCtww3iWiPT4

21. Find the angle made by the straight line y = — /3z + 3 with
the positive direction of the X-axis measured in the counter -clock

wise direction.

o Watch Video Solution

22. Find the angle which the straight line y = /3 — 4 makes with

the Y-axis.

o Watch Video Solution

23. Find the equation of the straight line passing through ( — 4, 5)

and cutting off equal intercepts on the coordinate axes.

o Watch Video Solution



https://dl.doubtnut.com/l/_Gr0hNEVqfh2K
https://dl.doubtnut.com/l/_2ihzoWkCpity
https://dl.doubtnut.com/l/_XpoVZskBX49R

24.Find the equation of the straight line passing through the point

(2, 3) and making intercepts, whose sum is zero.

o Watch Video Solution

25.Find the equation of the straight line passing through the point

( — 2, 4) and making intercepts whose sum is zero.

o Watch Video Solution

26. If the product of the intercepts make by the straight line

T
rtana + yseca = 1, (O <a< E), on the co-ordinates axes is

equal to sina, find a.

o Watch Video Solution



https://dl.doubtnut.com/l/_y8Qqw25CYp3I
https://dl.doubtnut.com/l/_VTgA1GfxM5kF
https://dl.doubtnut.com/l/_hls9Woyfd4Gu

27.Transform the equation 1/3z + y = 4 into slope intercept form

o Watch Video Solution

28. Transform the equation 1/3z + y = 4 into

intercept form

° Watch Video Solution

29. Transform the equation 1/3z + y = 4 into

Normal form

o Watch Video Solution

30. Transform the equation of x + y + 1 = 0 into

slope intercept form



https://dl.doubtnut.com/l/_chcl88CKhIH1
https://dl.doubtnut.com/l/_tXRye8F1HCZ3
https://dl.doubtnut.com/l/_1SrrPX1mqnAL
https://dl.doubtnut.com/l/_ybgqjhVVwDQK

| o Watch Video Solution

31. Transform the equation of £ + y + 1 = O into

intercept form

° Watch Video Solution

32. Transform the equation of z + y + 1 = O into

Normal form

o Watch Video Solution

33. Transform the equation 3z 4 4y + 12 = O into

slope intercept form

o Watch Video Solution



https://dl.doubtnut.com/l/_ybgqjhVVwDQK
https://dl.doubtnut.com/l/_HGQEASq6VOmV
https://dl.doubtnut.com/l/_9Hv8Fw5rcuvE
https://dl.doubtnut.com/l/_laRY5VK2gZkM
https://dl.doubtnut.com/l/_UR3iVtinFCTy

34. Transform the equation 3z 4 4y + 12 = O into

intercept form

o Watch Video Solution

35. Transform the equation 3z + 4y + 12 = O into

Normal form

o Watch Video Solution

36. Transformation the equation 4z + 3y + 12 = 0 into

slope intercept form

o Watch Video Solution



https://dl.doubtnut.com/l/_UR3iVtinFCTy
https://dl.doubtnut.com/l/_Gdz6ooDCdvgF
https://dl.doubtnut.com/l/_Foh8voCyKNKX

37. Transformation the equation 4x + 3y + 12 = O into

intercept form

o Watch Video Solution

38. Transformation the equation 4z + 3y + 12 = 0 into

Normal form

o Watch Video Solution

39. Transform the equation 2x — 3y + 6 = 0 into Normal form

° Watch Video Solution

40. Find the equation of the straight line whose distance from the

origin is 4, if the normal ray form the origin to the straight line


https://dl.doubtnut.com/l/_JyMgPDZ9D2Dq
https://dl.doubtnut.com/l/_YEbng06G3VWU
https://dl.doubtnut.com/l/_pGurXbi0L3rs
https://dl.doubtnut.com/l/_1nBOBU9o1vv0

makes an angle of 135° with the positive direction of the X-axis.

o Watch Video Solution

41. A straight line whose inclination with the positive direction of the
X-axis measured in the anti-clockwise sense is m /3 makes positive
intercept on the Y-axis. If the straight lie is at a distance of 4 from

the origin, find its equation.

o Watch Video Solution

42. A straight line through P(3, 4) makes an angle of 60° with the
positive direction of the X-axis. Find the coordinates of the points

with the line whre are 5 units away from P.

o Watch Video Solution



https://dl.doubtnut.com/l/_1nBOBU9o1vv0
https://dl.doubtnut.com/l/_bRWNSpVdyU8S
https://dl.doubtnut.com/l/_qPtiNr0Mymt1

43. A straight line passing through A(1, — 2) makes an angle
tan—14

—3 with the positive direction of the X-axis in the anticlock
wise sense. Find the point on the straight line whose distance from

Ais 5 units.

o Watch Video Solution

44. Find the area of the triangle formed by the line

3x — 4y + 12 = 0 with the coordinate axes.

o Watch Video Solution

45. Find the area of triangle formed by z — 4y + 2 = 0 with the

coordinate axes.

o View Text Solution



https://dl.doubtnut.com/l/_LV1gdOmuwS3t
https://dl.doubtnut.com/l/_lYS1cTWMabmS
https://dl.doubtnut.com/l/_qadX0j4tXlUm
https://dl.doubtnut.com/l/_MHMBFPHObFRf

46.Find the value of a it the area of the triangle formed by the liners

x=0,y=0,3x+4y=a is 6 sq units.

o Watch Video Solution

47. Find the ratio in which (ii) the Y-axis divide the line segment AB

joining the points A (2, -3) and B(3, -6).

o Watch Video Solution

48. Find the ratio in which the straight line 2x + 3y — 5 = 0 divides

the line joining the points (0,0) and (-2,1).

° Watch Video Solution



https://dl.doubtnut.com/l/_MHMBFPHObFRf
https://dl.doubtnut.com/l/_OdauehJBuY2V
https://dl.doubtnut.com/l/_9gxoe5RT2Q7Y

49. Find the ratio in which the straight line 5z — 6y — 21 =0

divides the line joining the points (4, — 1) and (2, 1)

o Watch Video Solution

50. Find the ratio in which the straight line 2z + 3y — 5 = 0 divides

the line joining the points (0,0) and (-2,1).

o Watch Video Solution

51. State whether the points A(3, 2), B( — 4, — 3) lie on the same

side or opposite sides of the line 2z — 3y + 4 = 0.

° Watch Video Solution



https://dl.doubtnut.com/l/_lmX2RMHps2Xj
https://dl.doubtnut.com/l/_eKL7RxxmiDCY
https://dl.doubtnut.com/l/_rA8VHRDWm27m

52. State whether the points A(2, — 1), B(1, 1) lie on the same or

opposite sides of the line 3z + 4y = 6.

o Watch Video Solution

53. Find the wvalue of p if the straight

z+p=0,y+2=0,3z + 2y + 6 = 0 are concurrent.

lines

o Watch Video Solution

54. Find the point of concurrence of the set of lines

(2+5k)z — 3(1+2k)y + (2—k) =0

o Watch Video Solution



https://dl.doubtnut.com/l/_41dZXKb9Yy2Y
https://dl.doubtnut.com/l/_7bbSrWmIfgmc
https://dl.doubtnut.com/l/_DLMiw1zPmtXr

55. Find the point of concurrence of the set of lines

(k+1)z+(k+2y+5=0

o Watch Video Solution

56. Find the angle between the lines 2x +y+4 =0 and

y—3xz =17

o Watch Video Solution

57. Find the angle between the lines

ar + by =a+b,a(z —y) + bz +y) = 2b

o Watch Video Solution



https://dl.doubtnut.com/l/_KeDbQrk84lfZ
https://dl.doubtnut.com/l/_hWd47jfGxXBc
https://dl.doubtnut.com/l/_J3n9VnBL6kjp

58. Find the angle between the lines /3z +y+1=10 and

zr+1=0

o Watch Video Solution

59. Find the distance between the parallel lines

bz —3y—4=0,10z — 6y — 9 =0

o Watch Video Solution

60. Find the distance between the parallel lines 3z +4y —3 =10

and6x +8y—1=0

o Watch Video Solution



https://dl.doubtnut.com/l/_ZKyCvpzczYpv
https://dl.doubtnut.com/l/_pmrW3OcIFGqd
https://dl.doubtnut.com/l/_vgIJF9q8ymQZ

61. If a,b,c are arithmetic progression then show that the equation
ax + by + ¢ = O represents a family of concurrent lines and find the

point of concurrency.

o Watch Video Solution

. z .
62. Transform the equation — + % = 1 into normal form where
a

a > 0,b > 0. If the perpendicular distance of the straight line from

1 1 1
the Origin is p then deduce that — = — 4+ —
p? a2 b2

° Watch Video Solution

63. Find the points on the line 3z — 4y — 1 = 0 which are at a

distance of 5 units from the point (3,2).

° Watch Video Solution



https://dl.doubtnut.com/l/_OazqgO2z40tv
https://dl.doubtnut.com/l/_1K8CpBWAQyLA
https://dl.doubtnut.com/l/_4rxubB7W7nMh
https://dl.doubtnut.com/l/_dpBktQCBlWDA

64. Find the points on the line 4z — 3y — 10 = 0 which are at a

distance of 5 units from the point (1, — 2)

° Watch Video Solution

65. A straight line through Q(\/g, 2) makes an angle 7 /6 with
positive direction of the X-axis. If the straight line intersects the line

V3z — 4y + 8 = 0 at P, find the distance PQ.

° Watch Video Solution

66. A straight line with slope 1 passes through Q( — 3, 5) meets the

linex + y — 6 = 0 at P. Find the distance PQ.

° Watch Video Solution



https://dl.doubtnut.com/l/_dpBktQCBlWDA
https://dl.doubtnut.com/l/_Pvx0LHp6YNfK
https://dl.doubtnut.com/l/_KP2yU2iJrFQY

67. A straight line parallel to the line y = /3x passes through Q(2,3)

and cuts the line 2x 4 4y — 27 = 0 at P. Find the lengh of PQ.

o Watch Video Solution

68. Find the value of k if the lines
2t —3y+k=0,3r —4y—13=0,8 — 11y — 33 =0 are
concurrent.

o Watch Video Solution

69. Find the value of p if the lines

3r + 4y = 5, 2x + 3y = 4, px + 4y = 6 are concurrent.

° Watch Video Solution



https://dl.doubtnut.com/l/_KPWdbkNL2mYv
https://dl.doubtnut.com/l/_iOtubaxxKquQ
https://dl.doubtnut.com/l/_mOdnibk46tnZ

70. Find the value of p if the lines
dr —3y—8=0,22 +py+2=0,6c +6y—1=0 are

concurrent,.

o View Text Solution

71. Show that the lines2z +y—-3=0,3z+2y—2=0 and

2x — 3y — 23 = 0 are concurrent and find the point fo concurrency.

o Watch Video Solution

72. If the straight lines ax +by+c=0,bx +cy+a =0 and
cx+ay+b=0 are concurrent, then prove that

a® + b + ¢ = 3abe

o Watch Video Solution



https://dl.doubtnut.com/l/_Pkb0PdRbRIhv
https://dl.doubtnut.com/l/_Qd5pWPWHGgTO
https://dl.doubtnut.com/l/_orXMrEv5LtBT
https://dl.doubtnut.com/l/_8iiMXSIKNEkB

73. Find the equation of the line passing through the point of
intersection of 2z 4+ 3y = 1, 3z + 4y = 6 and perpendicular to the

lines bx — 2y =7

o Watch Video Solution

74. Find the equation of the straight line parallel to 3x +4y =7
and passing through the point of intersection of the lines

r—2y—3=0andx+3y—6 =0.

o Watch Video Solution

75. Find the value of k if the angle between the straight lines

e —y+T7=0,kr — 5y — 9 — 0is 45°

o Watch Video Solution



https://dl.doubtnut.com/l/_8iiMXSIKNEkB
https://dl.doubtnut.com/l/_QumFDhnYWv7q
https://dl.doubtnut.com/l/_8GLwoBpci2TR
https://dl.doubtnut.com/l/_8BjiaiwsUn3N

76. Find the value of k if the angle between the straight

kx+y+9=0,3z —y+4=0is7/4

o Watch Video Solution

77. Find the incentre of the triangle whose vertices are

(1,4/3), (2,0) and (0, 0)

o View Text Solution

78. Find the point on the straight line 3z + y+ 4 = 0 which is

equidistant from the points (-5,6) and (3,2).

o Watch Video Solution

79. ( —4,5) is a vertex of a square and one of its diagonals is

7x — y + 8 = 0.Find the equation of a the other diagonal.


https://dl.doubtnut.com/l/_8BjiaiwsUn3N
https://dl.doubtnut.com/l/_9C1KUKKGxXxN
https://dl.doubtnut.com/l/_fhCqfDbRcKfq
https://dl.doubtnut.com/l/_JOfC9kSZCLnE

o Watch Video Solution

80. Find the circumcentre of the triangle whose vertices are (1,3)

(-3,5) and (5,-1).

o Watch Video Solution

81. Find the circumcentre of the triangle whose vertices are (1,3)

(0,-2) and (-3,1).

o Watch Video Solution

82. Find the circumcenter of the triangle whose vertices are (-2,3) , (2

,-1)’(4’0)'

o Watch Video Solution



https://dl.doubtnut.com/l/_JOfC9kSZCLnE
https://dl.doubtnut.com/l/_pqkBUXsWlPir
https://dl.doubtnut.com/l/_VdCAqpkPPP5G
https://dl.doubtnut.com/l/_G4O43uKMzWzL
https://dl.doubtnut.com/l/_J086Yh96Gimq

8. Find the circumcentre of the triangle whose vertices are

A(1,0),B(-1,2) and C(3,2)

o Watch Video Solution

84. Find the orthocentre

(5, —2),(—1,2),(1,4).

of the triangle whose vertices are

o Watch Video Solution

85. Find the orthocentre

(-2, —1)(6, —1),(2,5).

of the triagle whose vertices are

o Watch Video Solution



https://dl.doubtnut.com/l/_J086Yh96Gimq
https://dl.doubtnut.com/l/_dT9WcNzrPyMR
https://dl.doubtnut.com/l/_aCcsT0jn50KL

86. Find the orthocentre of the triangle whose vertices are

(-5, —17),(13,2),( — 5,6)

o Watch Video Solution

87. Find the orthocentre of the triangle whose sides are

t+y—10=0,z —2y+5=0,z+y+2=0

o Watch Video Solution

88. Find the orthocentre of the triangle whose sides are

dr —T7y+10=0,z +y =6and 7z + 4y = 15

o Watch Video Solution



https://dl.doubtnut.com/l/_AB37VIihyDOv
https://dl.doubtnut.com/l/_yjQiFcMZLnk3
https://dl.doubtnut.com/l/_as5kj4RGlO54

89. Find the orthocentre of the triangle whose sides are

t+y—10=0,z —2y+5=0,z4+y+2=0

o Watch Video Solution

90. Find the orthocentre of the triangle whose sides are

xr+2y=0,42+3y—5=0,3z+y=0

o View Text Solution

91. Find the circumcentre of the triangle whose sides are

3r —y—-5=0,z+2y—4=0andd5z +3y+1=0.

o Watch Video Solution



https://dl.doubtnut.com/l/_jHSFZ5PJlbQ7
https://dl.doubtnut.com/l/_HoeiMBHxgqkD
https://dl.doubtnut.com/l/_APT8RsPdams1

92. Find the circumcentre of the triangle whose sides are given by

r+y=0,2zx+y+5=0andz—-—y=0

o Watch Video Solution

93. If Q(h, k) is the foot of the perpendicular of P(z1,y;) on the
line ax +by+c=0 then prove that

(h—21),a=(k—wy),b= — (az; + by, + ¢): (a® + V7).

o Watch Video Solution

94. Find the foot of the perpendicular drawn from (4, 1) on the line

3z — 4y +12 =0

° Watch Video Solution



https://dl.doubtnut.com/l/_45LKrjOQNk8o
https://dl.doubtnut.com/l/_1A86TYhicaJa
https://dl.doubtnut.com/l/_ytC8XHp1iyF8

95. Find the foot of the perpendicular drawn from ( — 1, 3) on the

linebx —y—18 =0

o Watch Video Solution

96. If Q(h, k) is the foot of the perpendicular of P(z1, y;) on the
line ax +by+c=0 then prove that

(h—21),a=(k—wy),b= — (az; + by, + ¢): (a® + V7).

o Watch Video Solution

97. Find the image of (1,2) in the straight line3z + 4y — 1 =0

o Watch Video Solution



https://dl.doubtnut.com/l/_VQcaDBDpv1JD
https://dl.doubtnut.com/l/_D2MD22DYj87k
https://dl.doubtnut.com/l/_ytfRXN2DEJ76

98. Find the equation of the straight lines passing through the point

(1, 2) and making an angle of 60° with the line {/3z +y+ 2 =0

o Watch Video Solution

99. The base of an equilateral triangle x + y = 2 = 0 and opposite

vertex is (2 ,-1). Find the equations of the remaining sides .

o Watch Video Solution

100. Find the equation of the straight lines passing through the
point ( — 3,2) and making an angle 45° with the straight line

3r—y+4=0

o Watch Video Solution



https://dl.doubtnut.com/l/_zkjv1kyHF4qI
https://dl.doubtnut.com/l/_Kt1ZyPuQz24v
https://dl.doubtnut.com/l/_b3mBWiEi424q

101. Find the equation of the straight line passing through the

points (at%, 2at1), (at%, 2at2).

o Watch Video Solution

102. Find the sum of the squares of the intercepts of the line 4x-

3y=12 on the axes of co-ordinate.

o Watch Video Solution

103. If the portion of a straight line intercepted between the axes of
co-ordinates is bisected at (2p,2q), write the equation of the

straight line.

o Watch Video Solution



https://dl.doubtnut.com/l/_0qTsUZiOC5q8
https://dl.doubtnut.com/l/_T85dgPqnFpdj
https://dl.doubtnut.com/l/_EGq5eZBaCPhY

104. The intercepts of a straight line on the axes of co-ordinates are
aand b.
If p is the length of the perpendicular drawn from the origin to this

line. Write the value of p in terms of a and b.

o Watch Video Solution

105. Find the equation of the straight line whose distance from the
origin is 4, if the normal ray form the origin to the straight line

makes an angle of 135° with the positive direction of the X-axis.

o Watch Video Solution

106. Find the equation of the straight line passing through the point
of intersection of the linesx +y+1=0and 2z —y+ 5 = 0 and

containing the point (5, — 2).

s |


https://dl.doubtnut.com/l/_hCB57xFYkjJ3
https://dl.doubtnut.com/l/_YBFUOYNJybat
https://dl.doubtnut.com/l/_WGZzryCsIw1A

[ o Wwatch video Solution ]

107. If 3a+2b+4c=0 then show that the equation
ax + by + ¢ = 0 represents a family of concurrent straight lines

and find the point of concurrency.

° Watch Video Solution

108. A straight line meets the coordinate axes in A and B. Find the
equation of the straight line when AB is divided in the ratio 2:3 at

(_5’2)

o Watch Video Solution

109. Find the equation of the straight line passing through the
ponts (3, — 4) and making X and Y- intercepts which are in the ratio

2:3


https://dl.doubtnut.com/l/_WGZzryCsIw1A
https://dl.doubtnut.com/l/_2n66xBGEY13t
https://dl.doubtnut.com/l/_qIy0KfOtGTOW
https://dl.doubtnut.com/l/_NR4gPKuHxmIR

o Watch Video Solution

10. Find the equation of the straight line passing through the
points ( — 1,2) and (5, — 1) and also find the area of the triangle

formed by it with the axes of coordinates.

o Watch Video Solution

111. A triangle of area 24 sq. units is formed by a straight line with
the coordinate axes in the first quadrant. Find the equation of the

straight line, if it passes through (3,4).

° Watch Video Solution

112. Find the set of values of a if the points (1, 2) and (3, 4) lie to the

same side of the straight line 3z — 5y +a = 0

| o 1


https://dl.doubtnut.com/l/_NR4gPKuHxmIR
https://dl.doubtnut.com/l/_gd0dxZJIhuRf
https://dl.doubtnut.com/l/_FC0gV2k8lHij
https://dl.doubtnut.com/l/_hqVtMMMAKFdj

| & Watch Video Solution

13. If 2z — 3y — 5 = 0 is the perpendicular bisector of the line

segment joining (3, — 4) and (a, B) then find o + .

o Watch Video Solution

114. The line = — % = 1 meets the X-axis at P. Find the equation of
a

the line perpendicular to this line at P.

o Watch Video Solution

15. A( — 1, 1), B(5, 3) are opposite vertices of a square in the XY-
plane. Find the equation of the other diagonal (not passing through

A,B) of the square.

o Watch Video Solution



https://dl.doubtnut.com/l/_hqVtMMMAKFdj
https://dl.doubtnut.com/l/_ql6oISSvDjdX
https://dl.doubtnut.com/l/_GDXe6ukW7Rls
https://dl.doubtnut.com/l/_hfcRXaEHzuI0

6. z — 3y — 5 =20 is the perpendicular bisector of the line
segment joining the points AB. If A = ( —1, — 3), find the co

ordinates of B.

o Watch Video Solution

17. Find the perpendicular distance between the point of
intersection of 3z +2y+4=0,2x+5y—1=0 and the line

Tr + 24y = 15.

o Watch Video Solution

118. Find the value of a if the distances of the points (2, 3) and

( — 4, a) from the straight line 3z + 4y — 8 = 0 are equal.

o Watch Video Solution



https://dl.doubtnut.com/l/_MZcut4i3Z0j3
https://dl.doubtnut.com/l/_isojUYYbVkV7
https://dl.doubtnut.com/l/_PzjOddc9hliW
https://dl.doubtnut.com/l/_xHJQ0bKoiQtD

119. A variable straight line drawn through the point of intersection

of the straight lines z + Y _ 1 and 2 + Yy _ 1 meets the
a

b b a

coordinates axes at A and B. Show that the locus of the mid point of

ABis 2(a + b)zy = ab(z + y).

o Watch Video Solution

120. The hypotenuse of a right angled isosceles triangle has its ends
at the points (1, 3) and ( — 4, 1). Find the equations of the legs of

the triangle.

o Watch Video Solution

121. A(10,4), B( —4,9) and C( — 2, — 1) are the vertices of a

triangle.Find the equations of

AB

| o Watch Video Solution


https://dl.doubtnut.com/l/_xHJQ0bKoiQtD
https://dl.doubtnut.com/l/_pAOS3k71FxcE
https://dl.doubtnut.com/l/_9jDwNBlQknGZ

122. A(10,4), B( —4,9) and C( — 2, — 1) are the vertices of a
triangle.Find the equations of

the median through a

° Watch Video Solution

123. A(10,4), B( —4,9) and C( — 2, — 1) are the vertices of a
triangle.Find the equations of

the altitude through B

o Watch Video Solution

124. A(10,4), B( —4,9) and C( — 2, — 1) are the vertices of a

triangle.Find the equations of The perpendicular bisector of the side

AB



https://dl.doubtnut.com/l/_9jDwNBlQknGZ
https://dl.doubtnut.com/l/_5FrNq9PzZHYt
https://dl.doubtnut.com/l/_XVqLww3i2ztJ
https://dl.doubtnut.com/l/_ReMg2GaDjuvB

| @Y Watch Video Solution

125.If p and q are the lengths of the perpendiculars from the origin

to the straight lines rseca + ycoseca = a and

x cosa — ysina = acos 2a, prove that 49* + ¢¢ = a?

° Watch Video Solution

126. Two adjacent sides of a parallelogram are given by
4z 4+ by = 0, Tx + 2y = 0 and one diagonal is 11z + 7y = 9. Find

the equations of the remaining sides and the other diagonal.

o Watch Video Solution

127. Find the area of the parallelogram whose sides are

3r+4y+5=0,3z+4y—2=0,2z+3y+1=0,2x4+3y—7=0

| n‘.. n 1 we 1 -~ 1 e


https://dl.doubtnut.com/l/_ReMg2GaDjuvB
https://dl.doubtnut.com/l/_KqdQ0Zn0cRfA
https://dl.doubtnut.com/l/_YW9CwOXko60p
https://dl.doubtnut.com/l/_hoLrtqKp7bwz
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128. Find the equation of the line passing through the point of
intersection of 2xr — 5y + 1 =0,z — 3y — 4 = 0 and making equal

interecepts on the axes.

o Watch Video Solution

129. Write the general form of the equation of a line. Write the

condition on its coefficients.

° View Text Solution

130. Write the equation of normal form of a straight line.

o Watch Video Solution



https://dl.doubtnut.com/l/_hoLrtqKp7bwz
https://dl.doubtnut.com/l/_885fLvjFxXsU
https://dl.doubtnut.com/l/_APw3jmRm7Iw9
https://dl.doubtnut.com/l/_zgTHdA6OLfbu

131. Write the symmetric form of the equation of a line.

o Watch Video Solution

132. Write & Explain the terms of parametric equations of a straight

line.

° Watch Video Solution

133. What is the condition for the equation az 4+ by +c =0 to
represent a

vertical line

o Watch Video Solution



https://dl.doubtnut.com/l/_IrpOTpCV32wo
https://dl.doubtnut.com/l/_ZOpH7QGiEqY6
https://dl.doubtnut.com/l/_fk21YdtoZ0cy

134. What is the condition for the equation axz + by +c =0 to
represent a

non vertical line

o Watch Video Solution

135. Find the slope of thex +y=0and x-y=0.

o Watch Video Solution

136. Find the equation of the line containing the points (1, 2) and

(lv - 2)

o Watch Video Solution



https://dl.doubtnut.com/l/_ILmcb1RvWHxF
https://dl.doubtnut.com/l/_3ZflLiUaUTrq
https://dl.doubtnut.com/l/_mO6RtFmBnvc4

137. Write the equation of the reflection of the line z = 1 in the Y-

axis.

o Watch Video Solution

138. If the linear equations ax + by +c¢ =0, (a,b,c # 0) and
l

. n .
lr + my + n = 0 represent the same line and r = — = —, write
a c

the values of r in the terms m and b.

o Watch Video Solution

139. If the sum of the reciprocals of the intercepts made by a variable
straight line on the axes of coordinates is a constant, then prove

that the line always passes through a fixed point.

o Watch Video Solution



https://dl.doubtnut.com/l/_ltAGiqAmoVbX
https://dl.doubtnut.com/l/_hfChvexlZkSq
https://dl.doubtnut.com/l/_J57zesHAZrPq
https://dl.doubtnut.com/l/_wx8HOqs76lqw

140. Line L has intercepts a and b on the axes of co ordinates. When

the axes are rotated through a givenn angle, keeping the origin

fixed, the straight line L has intercpets p and q on the transformed

1 1 1 1
axes. Prove that— + — = — + —-

a? b2 p? q

o Watch Video Solution

141. Show that the straight lines
(a—b)z+(b—cy=c—a,(b—c)z+(c—a)y=a—>b and
(c —a)xz + (a — b)y = b — care concurrent.

o Watch Video Solution
142. If the four straight lines
ar +by+p=0,ax +by+q=0,cx +dy+r =20 and

cx + dy+ s = 0 form a prallelogram. Show that the area of the


https://dl.doubtnut.com/l/_wx8HOqs76lqw
https://dl.doubtnut.com/l/_dYs19L43rTnA
https://dl.doubtnut.com/l/_mn2C5qTQVrC4

parallelogram so formed is

(p—q(r—s)
bc — ad

o Watch Video Solution

143. An equilateral triangle has its incentre at the origin and one

sideas ¢ + y — 2 = 0. Find the vertex oppositetoxz +y — 2 =0

o Watch Video Solution

144. Find the locus of the foot of the perpendicular from the orign
to a variable straighht line which always passes through the fixed

point (a, b).

o Watch Video Solution



https://dl.doubtnut.com/l/_mn2C5qTQVrC4
https://dl.doubtnut.com/l/_XhzXVyVEP0IM
https://dl.doubtnut.com/l/_LCcbfyaE1jY8

145. Show that the lines # — 7Ty — 22 =0,3z +4y+ 9 =0 and

7r + y — 54 = 0 form a right angled isosceles triangle.

o Watch Video Solution

146. Find the angles of the triangle whose sides are

cr+y—4=0,2xr+y—6=0,52+3y— 15 =10

o Watch Video Solution

147. Prove that the feet of the perpendicular from the origin on the

lines x +y = 4, x + by = 26, 15z — 27y = 424 are collinear.

° Watch Video Solution



https://dl.doubtnut.com/l/_SEXN7HbJvMyx
https://dl.doubtnut.com/l/_fsUVUdONYzEG
https://dl.doubtnut.com/l/_WpZ6MGzNYY81

148. Each sides of a square is of lemgth 4 units. The centre of the
square is (3, 7) and one of its diagonals is parallel to y = z. Find the

co-ordinates of its vertices.

o Watch Video Solution

149. If ab > 0 find th area of the rhombus enclosed by the four

straight linesax by £+ c =0

o Watch Video Solution

150. Find the equation of the line perpendicular to the line

3z + 4y + 6 = 0 and making intercept —4 on X-axis.

o Watch Video Solution



https://dl.doubtnut.com/l/_ZfXoD88xcYGd
https://dl.doubtnut.com/l/_T4OcBZsyGhnJ
https://dl.doubtnut.com/l/_hgrw6Urj4iWf

151. Find the incentre of the triangle formed by the straight lines

zr=1lLy=1Lx+y=1

o Watch Video Solution

152. Find the incenter of the triangle formed by the straight lines

y=+3z,y= —/B3zandy =3

o Watch Video Solution

153. Find the point of intersection of the straight lines z + % =1
a
z Y
d—+—==1 +5b
and — + = , (a # )

o Watch Video Solution



https://dl.doubtnut.com/l/_7Ow3bAGVJwad
https://dl.doubtnut.com/l/_xfd25VcFarhy
https://dl.doubtnut.com/l/_DvvybGPCIDWB

154. If 6 is the angle between the lines z + % = land % +
a

¥ _,
a

find the value of sin 6.

when a > b.

o Watch Video Solution

155. Let PS be the median of the triangle with vertices
P(2,2),Q(6, — 1) and R(7, 3). Find the equation of the straight

line passing through (1,-1) and parallel to the median PS.

o Watch Video Solution



https://dl.doubtnut.com/l/_rqOiOYLKH8ES
https://dl.doubtnut.com/l/_RFj6AnuLY4a4

